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	Reason for change:
(

	1. The teststep ts_GMM_Authentication stores the value of keys in tcv_PS_AuthCK and tcv_PS_AuthIK which should be passed to ts_RRC_Security.However, ts_RRC_Security is called with tcv_AuthCK and tcv_AuthIK which is incorrect.

2. Dependency of test case 8.4.1.29 on PIXIT px_RB_InteractiveOrBackground has to be avoided since for this particular test case value needed for px_RB_InteractiveOrBackground is a random bitstring of size 1440 bits.

3. TS 34.123-1 specification defines contents of MEASUREMENT REPORT message at step 3, step 4, step 4d and step 4e of test case 8.4.1.29 as

· RLC Buffer payload: Check to see if the value is above the threshold  for RB20

· Additional Measurement results : Not checked

· CHOICE Measurement quantity: Check to see if set to within acceptable range.

But in TTCN

· value of RLC Buffer pay load is not verified.

· Additional measurement results are verified using “OMIT”  

· Value of Measurement quantity is not verified.

4. TS 34.123-1 specification defines step 4 and step 4e for test case 8.4.1.29 as “UE repeats message after 1100 ms”. But in TTCN a upperbound timer is started after reception of a RLC PDU where as a lower bound timer needs to be started immediately after the reception of MEASUREMENT REPORT message. 
5. In test case 8.4.1.29, tcv_Tolerance is hardcoded as 900ms and is added to all the timers started in the test case. The purpose of the increased tolerance is to give SS enough time to trigger traffic volume events, but the name tcv_tolerance is misleading. More over adding the same increased tolerance to timers started to confirm periodical measurement reporting at step 4 and 4e is incorrect.

6. Dependency of test case 8.4.1.30 on PIXIT px_RB_InteractiveOrBackground has to be avoided since for this particular test case value needed for px_RB_InteractiveOrBackground is a random bitstring of size 4160 bits.

7. In TS 34.123-1 section 8.4.1.30.4  specific message contents are defined for the measurement report ( step4, step 5 and step 7b) to verify:

· RLC Buffer Payload: Check to see if the value is above the threshold

In TTCN the for above IE any value (“?”) is allowed. The TTCN needs to be modified to verify the value as requested by the test specification.

8. In TS 34.123-1 section 8.4.1.30.4  specific message contents are defined for the measurement report ( step 6, step 7 and step 7d) to verify:

· RLC Buffer Payload: Check to see if the value is below the threshold

In TTCN the for above IE any value (“?”) is allowed. TTCN need to be modified to verify the value as requested by the test specification.

9. In TS 34.123-1 section 8.4.1.30.4  specific message contents are defined for the measurement report ( step4, step 5, step 6, step 7, step 7b and step 7d) to verify:

· Measured results on RACH: Not Checked

· Additional Measured Results: Not Checked

In TTCN the above IE are checked using “OMIT” . TTCN need to be modified to verify the value as requested by the test specification.

10. In TS 34.123-1 section 8.4.1.30.4  it is specified for step 5  and step 7 that:

“UE repeats message after 2100 ms”.

But in TTCN only Upper boundary is verified which is not required by the specification and lower boundary is not verified which is required by the specification.

11. In TTCN timer t_waitms ( periodical measurement reporting timer) after step 4 and the reception of two PDU’s, which causes a inaccurate timer verification.
12. In test case 8.4.1.30, tcv_Tolerance is hardcoded as 900ms and is added to all the timers started in the test case. Purpose of the increased tolerance is to give SS enough time to trigger traffic volume events, but name tcv_tolerance is misleading. More over adding the same increased tolerance to timers started to confirm periodical measurement reporting at step 5 and 7 are wrong.

	
	

	Summary of change:
(

	1. On line 3 of ts_ToStateMT_PS_6_10Or6_11_ActivateRB_TestMode, tcv_PS_AuthCK and tcv_PS_AuthIK are passed as parameters to ts_RRC_Security.

2. Modified Line #9 of test case 8.4.1.29 to use TSO o_GetLeastSignificantBits to generate a random bit string of 1440 bits.
3. Modified constraint cr_MeasReportEventBasedTrafficVolume to match contents of MEASUREMENT REPORT message at step 3, step 4, step 4d and step 4e of test case 8.4.1.29 with 34.123-1 section 8.4.1.29.4.

4. step 4 and step 4e of test case 8.4.1.29 are modified to start a lowerbound timer immediately after the reception of MEASUREMENT REPORT message.

5. A new test case variable tcv_TriggerTimeForTrafficVolEvents is defined and replaced tcv_Tolerance in test case 8.4.1.29. Modified  tolerance added to timers started for periodical measurement reporting at step 4 and 4e to normal tolerance(10%). 

6. Modified Line #10 of test case 8.4.1.30 to use TSO o_GetLeastSignificantBits to generate a random bit string of 4160 bits.

7. A new local tree lt_CheckRLC_PayLoadUpper is defined to verify the value of ‘RLC Buffer Payload’ IE in MEASUREMENT REPORT Message is above the reporting threshold or not. This test step is called after step4, step 5 and step 7b to verify the same.

8. A new local tree lt_CheckRLC_PayLoadLower is defined to verify the value of ‘RLC Buffer Payload’ IE in MEASUREMENT REPORT Message is below the reporting threshold or not. This test step is called after step6, step 7 and step 7d to verify the same.

9. Constraint declaration of cdr_MeasReportTrafficVolume is modified to not check for ‘Measured results on RACH’ and ‘Additional Measured Results’ IE’s in MEASUREMENT REPORT message.

10. Step 5 and 7 of test case 8.4.1.30 are modified to verify that UE sends MEASUREMENT REPORT message after 2100 ms.

11. Modified TTCN to start a lowerbound timer immediately after receiving MEASUREMENT REPORT Message.

12. Replaced tcv_Tolerance in test case 8.4.1.30 with newly defined  tcv_TriggerTimeForTrafficVolEvents. Modified  tolerance added to timers started for periodical measurement reporting at step 5 and 7 to normal tolerance(10%). 
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(

not approved:
	 Testcases 8.4.1.29 and 8.4.1.30 may fail a conformant UE.
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Change1

	Test step
	In teststep ts_ToStateMT_PS_6_10Or6_11_ActivateRB_TestMode

	Reason for change
	1. The teststep ts_GMM_Authentication stores the value of keys in tcv_PS_AuthCK and tcv_PS_AuthIK which should be passed to ts_RRC_Security. However, ts_RRC_Security is called with tcv_AuthCK and tcv_AuthIK which is incorrect.

	Summary of change
	1. On line 3 of ts_ToStateMT_PS_6_10Or6_11_ActivateRB_TestMode, tcv_PS_AuthCK and tcv_PS_AuthIK are passed as parameters to ts_RRC_Security.

	Source of change
	new change
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Change 2

	Test step
	tc_8_4_1_29

	Reason for change
	1. Dependency of test case 8.4.1.29 on PIXIT px_RB_InteractiveOrBackground has to be avoided since for this particular test case value needed for px_RB_InteractiveOrBackground is a random bitstring of size 1440 bits.

	Summary of change
	2. Modified Line #9 of test case 8.4.1.29 to use TSO o_GetLeastSignificantBits to generate a random bit string of 1440 bits.

	Source of change
	new change
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Change 3

	Asn.1 PDU Constraint Declaration
	In cr_MeasReportEventBasedTrafficVolume

	Reason for change
	1. TS 34.123-1 specification defines contents of MEASUREMENT REPORT message at step 3, step 4, step 4d and step 4e of test case 8.4.1.29 as

· Additional Measurement results : Not checked

But in TTCN

· Additional measurement results are verified using “OMIT”  

	Summary of change
	1. Modified constraint cr_MeasReportEventBasedTrafficVolume to match contents of MEASUREMENT REPORT message at step 3, step 4, step 4d and step 4e of test case 8.4.1.29 with 34.123-1 section 8.4.1.29.4.


	Source of change
	new change
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Change 4:

	Local Tree and Test step
	In lt_TestBody, lt_CheckFirstMeasReport, lt_CheckMeasReport_Periodic of tc_8_4_1_29

	Reason for change
	1. TS 34.123-1 specification defines contents of MEASUREMENT REPORT message at step 3, step 4, step 4d and step 4e of test case 8.4.1.29 as

· RLC Buffer payload: Check to see if the value is above the threshold  for RB20

· CHOICE Measurement quantity: Check to see if set to within acceptable range.

But in TTCN

· value of RLC Buffer pay load is not verified

· Value of Measurement quantity is not verified.

2. TS 34.123-1 specification defines step 4 and step 4e for test case 8.4.1.29 as “UE repeats message after 1100 ms”. But in TTCN a upperbound timer is started after reception of a RLC PDU where as a lower bound timer need to be started immediately after the reception of MEASUREMENT REPORT message. 
3. In test case 8.4.1.29, tcv_Tolerance is hardcoded as 900ms and is added to all the timers started in the test case. Purpose of the increased tolerance is to give SS enough time to trigger traffic volume events, but name tcv_tolerance is misleading. More over adding the same increased tolerance to timers started to confirm periodical measurement reporting at step 4 and 4e are wrong.

	Summary of change
	1. Defined Local tree lt_CheckRLC_PayLoadUpper to verify RLC Buffer pay load at step 3, 4, 4d and 4e..
2. Defined Local tree lt_CheckCPICH_RSCP to verify Measurement quanity at step 3, 4, 4d and 4e.
3. Defined new test case variable tcv_RLCBuffer_PayLoad of type RLC_BuffersPayload in Test Case Variable Declaration.
4. Step 4 and step 4e of test case 8.4.1.29 are modified to start a lowerbound timer immediately after the reception of MEASUREMENT REPORT message. A new local tree lt_CheckMeasReport_Periodic  is defined 
and is being called at steps 4 and 4e.
5. A new test case variable tcv_WaitTimeForTrafficVolEvents is defined and replaced tcv_Tolerance in test case 8.4.1.29. Modified  tolerance added to timers started for periodical measurement reporting at step 4 and 4e to normal tolerance(10%). 

	Source of change
	new change
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New Test Case Variable:
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New Test Case Variable:
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Change 5:

	Test step
	tc_8_4_1_30

	Reason for change
	1. Dependency of test case 8.4.1.39 on PIXIT px_RB_InteractiveOrBackground has to be avoided since for this particular test case value needed for px_RB_InteractiveOrBackground is a random bitstring of size 4160 bits.

	Summary of change
	1. Modified Line #10 of test case 8.4.1.30 to use TSO o_GetLeastSignificantBits to generate a random bit string of 4160 bits.

	Source of change
	new change
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Change 6:

	Local Tree and Test step
	Lt_TestBody,  lt_CheckFirstMeasReport and lt_CheckmeasReport of tc_8_4_1_30

	Reason for change
	1. In TS 34.123-1 section 8.4.1.30.4  specific message contents are defined for the measurement report ( step4, step 5 and step 7b) to verify:

· RLC Buffer Payload: Check to see if the value is above the threshold

In TTCN the for above IE any value (“?”) is allowed. TTCN need to be modified to verify the value as requested by the test specification.

2. In TS 34.123-1 section 8.4.1.30.4  specific message contents are defined for the measurement report ( step 6, step 7 and step 7d) to verify:

-  RLC Buffer Payload: Check to see if the value is below the threshold

    In TTCN the for above IE any value (“?”) is allowed. TTCN need to be modified 

     to verify the value as requested by the test specification.

3. In TS 34.123-1 section 8.4.1.30.4  it is specified for step 5  and step 7 that:

“UE repeats message after 2100 ms”.

But in TTCN only Upper boundary is verified which is not required by the specification and lower boundary is not verified which is required by the specification.

4. In TTCN timer t_waitms ( periodical measurement reporting timer) after step 4 and the reception of two PDU’s, which causes a non accurate timer verification.
5. In test case 8.4.1.30, tcv_Tolerance is hardcoded as 900ms and is added to all the timers started in the test case. Purpose of the increased tolerance is to give SS enough time to trigger traffic volume events, but name tcv_tolerance is misleading. More over adding the same increased tolerance to timers started to confirm periodical measurement reporting at step 5 and 7 are wrong.

	Summary of change
	1. A new local tree lt_CheckRLC_PayLoadUpper is defined to verify the value of ‘RLC Buffer Payload’ IE in MEASUREMENT REPORT Message is above the reporting threshold or not. This test step is called after step4, step 5 and step 7b to verify the same.
2. Defined a new test case variable ‘tcv_RLCBuffer_PayLoad’ in Test case variable declaration. 

3. A new local tree lt_CheckRLC_PayLoadLower is defined to verify the value of ‘RLC Buffer Payload’ IE in MEASUREMENT REPORT Message is below the reporting threshold or not. This test step is called after step 6, step 7 and step 7d to verify the same.
4.  Step 5 and 7 are modified to verify that UE sends MEASUREMENT REPORT message after 2100 ms. Introduced a new local tree lt_CheckmeasReport_Periodic for the same.
5. Modified TTCN to start a lowerbound timer immediately after receiving MEASUREMENT REPORT Message.
6. Replaced tcv_Tolerance in test case 8.4.1.30 with newly defined  tcv_WaitTimeForTrafficVolEvents. Modified  tolerance added to timers started for periodical measurement reporting at step 5 and 7 to normal tolerance(10%).   

	Source of change
	New Change
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Change 7:

	ASN.1 PDU Constraint Declaration
	cdr_MeasReportTrafficVolume 

	Reason for change
	In TS 34.123-1 section 8.4.1.30.4  specific message contents are defined for the measurement report ( step4, step 5, step 6, step 7, step 7b and step 7d) to verify:

· Measured results on RACH: Not Checked

· Additional Measured Results: Not Checked

In TTCN the above IE are checked using “OMIT”. TTCN need to be modified to verify the value as requested by the test specification.

	Summary of change
	1. Constraint declaration of cdr_MeasReportTrafficVolume is modified to not check for ‘Measured results on RACH’ and ‘Additional Measured Results’ IE’s in MEASUREMENT REPORT message.

	Source of change
	New Change
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